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PUZZLE 01

Eight employees from A to H of an office took leave from 1st to 8th
of August such that only one employee took leave on one day.
These employees hold different posts in the office among Chairman,
General Manager, CFO, CEO, Senior Manager, Quality Analyst,
Executive and Associate but not necessarily in same order. They
were having mobile phones of different brands viz. Oppo, Vivo,
Samsung, Realme, Redmi, Asus, LG and Lenovo. Everyone holds

different post and different mobile.

H, who Is a Senior Manager took leave three days before the one
who owns Vivo mobile. Number of employees taking leave after His
equal to the number of persons taking leave before B, who owns LG
mobile. B took leave just before the one who is an Executive. CEO
owns Lenovo mobile and took leave immediately after the one who
IS Associate. Vivo mobile is owned by the one who is Quality
Analyst. A neither owns Oppo mobile nor holds CFO post. CEO took

leave two days after CFO. C owns Asus mobile and took leave

iImmediately before the one who owns Lenovo mobile. Nobody takes

leave after the one who owns Oppo mobile. A takes leave just before

F, who takes leave on an odd numbered date. The one who is
Chairman takes leave before the one who owns Samsung mobile. D
IS neither the first one nor the last one to take leave. G owns Oppo
mobile. Only two employees take leave between H and the one who

owns Realme mobile.
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PUZZLE 02

Eight people M,N,O,P,Q,R,S and T were seated in two different rows such
that 4 people were seated in each row. People seated in row 1 were facing
north while people seated in row 2 were facing south. After some time,
these people took a break and went for lunch. When they returned, they
sat in the same two rows but not at the same seat in which they were

seated before. It is also known that each of them wore a shirt of different

colour among Pink, White, Green, Blue, Black, Brown, Yellow and Red. N
was seated second from the west end of row 1 after shifting. The person
wearing yellow shirt was seated to the immediate left of Q but not
oppositeto T. The person wearing yellow shirt was seated immediate left
of the person seated opposite to N after shifting. M was seated at one of
the ends before shifting and opposite to the person seated in row 1
wearing black shirt after shifting. P was seated at the east end of row 1
before shifting. The person wearing brown shirt who was not N was
seated to the immediate left of the person wearing blue shirt in both
before and after. The person seated second from the west end of row 2
before shifting was wearing white shirt. R was seated in the same row
even after shifting and was seated immediate right of M both the times. P
was not wearing yellow shirt. O was seated to the immediate left of T who
was wearing Pink shirt, both before and after shifting, but in different
rows both the times. S was not seated adjacent to either Q or N after
shifting. Q was seated at one of the ends after shifting and was wearing

green coloured shirt.
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PUZZLE 03

Seven shelves are stacked one above another such that each shelf
has either one or two boxes on it. Each box has a different edible
item iIn it.

F is kept on the shelf immmediately below G. G contains cashews and
IS the only box on that shelf. L is kept above the coconuts but not
iImmediately. The box that contains paneer is kept on the same shelf
as box R. H does not contain raisins and is not kept immediately
below A. The box with chips is kept immediately below R. Four
shelves are in between T and Y such that T is kept below Y. C
contains eggs and is kept immediately above the box that contains
bread. A does not contain bread. One shelf is in between the boxes
that contain almonds and popcorn. Sis kept immediately below the
box that contains popcorn and immediately above G. A does not
contain biscuits. A is kept above G. Two shelves are in between G
and the box that contains bread. A is kept immediately below L. L

does not contain bread. Six shelves are below the box that contains

eggs.
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ANSWER

PUZZLE 01
Date Employee Post Mobile
1 E CFO Realme
2 C Associate Asus
3 D CEO Lenevo
£ H Senior Manager |Redmi
5 B Chairman Lg
6 A Executive Samsung
7 F Quality Analyst Vivo
8 G General manager Oppo
PUZZLE 02
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PUZZLE 03
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BOX 1 BOX 2
C,Eggs H,Almonds
YBread | e

L,Popcorn | —mmmmeee-
A ,Raisins S,Biscuit
G,Cashews | e
F.Paneer R,Coconut
T.Chips | e



https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM

GGGGGGG

CODED INEQUALITY

“P@Q” means “P is not less than Q”.

“P%Q” means “P is not greater than Q”.

“P$Q” means “P is neither greater than nor equal to Q”.
“P#Q” means “P is neither less than nor equal to Q.
“P&Q” means “P is neither less than nor greater than Q”.
1) Statements:

P#L%M#X, LQHST, HEW@S

Conclusion:

. S$P

Il. M@H

1. T#X

a) Both conclusions | and lll are true

b) Only conclusion |l is true

c) Both conclusions | and Il are true

d) Only conclusion lll is true

e) None is true

2) Statements:

WHUWFS$T, FEM&V%X, U@G$SS@B

Conclusion:

. X@U

1. T#G

1. VW a

|
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a) Both conclusions | and Ill are true
b) Only conclusion lll is true

c) Both conclusions | and Il are true
d) Only conclusion Il is true

e) None is true

3) Statements:

G$T%SHM@Z, MSWUQ#P, Q&R$L
Conclusion:

|.Q#G

Il. Z$R

. G@R

a) Either conclusion | or lll is true

b) Only conclusion lll is true

c) Either conclusion | or lll and conclusion Il is true
d) Only conclusion Il is true

e) All conclusions I, Il and Ill are true
4) Statements:

Q%BSW, KSIWHUE TSR, T@Z#M%S
Conclusion:

l. T#Q

1. U%S

1. R#K

|
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a) Both conclusions Il and lll are true
b) Only conclusion lll is true

c) Both conclusions | and lll are true

d) All conclusions |, Il, and Ill are true
e) None is true

5) Statements:

M#S%KS$H, Z#EH@LSF%G, FSTYWE#Q

Conclusion:

l. G#Q

Il. S$Z

Ill. E@QL

a) Only conclusion Il is true

b) Only conclusion lll is true

c) Both conclusions | and lll are true

d) All conclusions I, Il, and Ill are true

e) None is true
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CODING DECODING

In a certain code language following statements are coded as

follows:

“Burn Are More Empty Close” is coded as “#%+ @%¥ #$¥ Q@"*
@Y.
“Went All File Above Equal” is coded as “@"¥ @"© #$£ #%E #%¥".

“Blue Copy Age Down Today” is coded as “@%+ #$¥ @+ @"*
@M¥".
Note: (All the given codes are three symbols codes only)

1) How “went” is coded in the given code language?
a)#$¥

b) @"©

c)@N¥

d) @%¥

e) @N*

2) Which of the following phrase is coded as “#$¥ #%£"?
a) Age Equal

b) Down Empty

c) Are Equal

d) Both A and C

e) None of these
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3) How “More Copy” is coded in the given code language?
a) O ¥ @M+

b) @"* #$¥

c) @N¥ #$¥

d) Either A or B

e) Either Bor C

4) What may be the code of “Run Today Away"?
a) @%* @%+ #M+

b)@$* #%* #/M +

C)@%* @%+ #/M+

d) Either A or B

e) None of these

5) What is the code of “Empty File”?

a) #*A @£

b) #%+ @M¥

) #*A @A+

d) @%N #/¥

e) None of these

|
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ANSWER

CODED INEQUALITY

1) Answer: C
2) Answer: D
3) Answer: C
4) Answer: E
5) Answer: A

CODING DECODING

1. Answer: B

2. Answer: D
3. Answer: A
4. Answer: C
5. Answer: B
We have:

For the first symbol: If the word starts with a consonant then it is

coded as ‘@’, else it is coded as ‘#'.

For the second symbol: the second symbol represents the number

of letters in the word. For 3 =%, 4 =/, and 5 =%
For the third symbol: the third symbol represents

the last letter of theword. Y=+ N=* E=¥, and L =£
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